

Moment hybnosti  
 a komutacní relace

UKM-2023  
 T 25.4.-1

$$1.1. \quad [\hat{x}, \hat{p}_x] f(x) = \left( x \left( -i\hbar \frac{d}{dx} \right) - \left( -i\hbar \frac{d}{dx} \right) x \right) f(x) \\
 = -i\hbar \left( x \frac{d}{dx} - \frac{d}{dx} x \right) f(x) = -i\hbar [x f' - x f' - f] = i\hbar f(x) \\
 [\hat{x}, \hat{p}_x] = i\hbar$$

$$1.2. \quad [\hat{x}, \hat{L}_x] = [\hat{x}, \hat{y} \hat{p}_z - \hat{z} \hat{p}_y] = 0$$

$$[\hat{x}, \hat{L}_y] = [\hat{x}, \hat{z} \hat{p}_x - \hat{x} \hat{p}_z] = [\hat{x}, \hat{z} \hat{p}_x] = \hat{x} \hat{z} \hat{p}_x - \hat{z} \hat{p}_x \hat{x} = \hat{z} [\hat{x}, \hat{p}_x] = i\hbar \hat{z}$$

$$[\hat{x}, \hat{L}_z] = [\hat{x}, \hat{x} \hat{p}_y - \hat{y} \hat{p}_x] = [\hat{x}, -\hat{y} \hat{p}_x] = -\hat{y} [\hat{x}, \hat{p}_x] = -i\hbar \hat{y}$$

$$1.3. \quad [L_x, L_y] = [y p_z - z p_y, z p_x - x p_z] = [y p_z, z p_x] + [z p_y, x p_z] = \\
 = y p_x [p_z, z] + p_y x [z, p_z] = -i\hbar y p_x + i\hbar p_y x = i\hbar L_z$$

$$1.4. \quad [L^2, L_x] = [L_x^2 + L_y^2 + L_z^2, L_x] = [L_y^2, L_x] + [L_z^2, L_x] \\
 = L_y L_y L_x - L_x L_y L_y + L_z L_z L_x - L_x L_z L_z \\
 = L_y L_y L_x - L_y L_x L_y + L_y L_x L_y - L_x L_y L_y + \dots \\
 = L_y [L_y, L_x] + [L_y, L_x] L_y + L_z [L_z, L_x] + [L_z, L_x] L_z \\
 = -i\hbar L_y L_z + i\hbar L_z L_y + L_z i\hbar L_y + i\hbar L_y L_z = 0$$

Průběh

$$2.1. \quad \langle Y_0^0 | Y_0^0 \rangle = \int_0^{2\pi} d\phi \int_0^\pi d\theta \sin\theta \frac{1}{4\pi} = \frac{2\pi}{4\pi} \int_0^\pi d\theta \sin\theta = \frac{1}{2} [-\cos\theta]_0^\pi = \frac{1}{2} [-(-1) - (-1)] = 1$$

$$\langle Y_1^0 | Y_1^0 \rangle = \int_0^{2\pi} d\phi \int_0^\pi d\theta \sin\theta \frac{3}{4\pi} \cos^2\theta = \frac{2\pi}{4\pi} 3 \int_0^\pi d\theta \sin\theta \cos^2\theta = \frac{3}{2} \int_{-1}^1 dt \cos^2\theta \\
 = \frac{3}{2} \int_1^{-1} t^2 dt = -\frac{3}{2} \int_1^{-1} t^2 dt = \frac{3}{2} \int_{-1}^1 t^2 dt = \frac{3}{2} \left[ \frac{t^3}{3} \right]_{-1}^1 = \frac{3}{2} \left[ \frac{1}{3} - \left( -\frac{1}{3} \right) \right] = 1$$

$$\langle Y_1^1 | Y_1^1 \rangle = \int_0^{2\pi} d\phi \int_0^\pi d\theta \sin\theta \sqrt{\frac{3}{8\pi}} \sin\theta e^{-i\phi} \sqrt{\frac{3}{8\pi}} \sin\theta e^{i\phi} = \frac{3}{4} \int_0^\pi d\theta \sin^3\theta \\
 = \frac{3}{4} \int_1^{-1} dt (1-t^2) = -\frac{3}{4} \left[ t - \frac{t^3}{3} \right]_{-1}^1 = -\frac{3}{4} \left[ -1 + \frac{1}{3} - \left( -1 + \frac{1}{3} \right) \right] = -\frac{3}{4} \left[ -\frac{4}{3} \right] = 1$$

$$\langle Y_0^0 | Y_1^0 \rangle = \int_0^{2\pi} d\phi \int_0^\pi d\theta \sin\theta \frac{1}{\sqrt{4\pi}} \sqrt{\frac{3}{4\pi}} \cos\theta = \frac{\sqrt{3}}{2} \int_0^\pi d\theta \sin\theta \cos\theta = \frac{\sqrt{3}}{2} \int_1^{-1} t dt = \frac{\sqrt{3}}{2} \left[ \frac{t^2}{2} \right]_{-1}^1 \\
 = \frac{\sqrt{3}}{2} \left[ \frac{1}{2} - \frac{1}{2} \right] = 0$$

3. matrice

- baze d. stanja  $\hat{L}_1, \hat{L}_2$

Wiem 2023

T 25.4.-2

$$L^2 |l, m\rangle = \hbar^2 l(l+1) |l, m\rangle \quad L_z |l, m\rangle = \hbar m |l, m\rangle$$

$$\langle l', m' | L_z |l, m\rangle = \langle l', m' | \hbar m |l, m\rangle = \hbar m \langle l', m' | l, m\rangle = \hbar m \delta_{l'l} \delta_{m'm}$$

→ diag. matrice

$$L^2 = \hbar^2 \begin{pmatrix} 2 & 0 & 0 \\ 0 & 2 & 0 \\ 0 & 0 & 2 \end{pmatrix} \quad L_z = \hbar \begin{pmatrix} 2 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & -2 \end{pmatrix}$$

zależności na podstawie bazy fci  
zde:  $|1, -1\rangle, |1, 0\rangle, |1, 1\rangle$

$$L^2 = \hbar^2 \begin{pmatrix} 0 & 1 & 0 \\ 1 & 2 & 0 \\ 0 & 0 & 1 \end{pmatrix} \quad L_z = \hbar \begin{pmatrix} 1 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & -1 \end{pmatrix}$$

$$L_{\pm} |l, m\rangle = \hbar \sqrt{l(l+1) - m(m \pm 1)} |l, m \pm 1\rangle$$

$$\langle l', m' | L_{\pm} |l, m\rangle = \langle l', m' | \hbar \sqrt{l(l+1) - m(m \pm 1)} |l, m \pm 1\rangle$$

$$= \hbar \sqrt{l(l+1) - m(m \pm 1)} \langle l', m' | l, m \pm 1\rangle$$

$$= \hbar \sqrt{l(l+1) - m(m \pm 1)} \delta_{l'l} \delta_{m', m \pm 1}$$

$$\begin{matrix} & m \\ -1 & 0 & 1 \\ \hline 1 & 0 & 0 \\ 0 & \sqrt{2} & 0 \\ 1 & 0 & \sqrt{2} \end{matrix}$$

$L_+$  pro  $l=0: (0)$

kontrola  $|1, -1\rangle = \begin{pmatrix} 1 \\ 0 \\ 0 \end{pmatrix}$

$L_+$  pro  $l=1: \hbar \begin{pmatrix} 0 & 0 & 0 \\ \sqrt{2} & 0 & 0 \\ 0 & \sqrt{2} & 0 \end{pmatrix}$

$L_+ \begin{pmatrix} 1 \\ 0 \\ 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 & 0 \\ \sqrt{2} & 0 & 0 \\ 0 & \sqrt{2} & 0 \end{pmatrix} \begin{pmatrix} 1 \\ 0 \\ 0 \end{pmatrix} = \sqrt{2} \begin{pmatrix} 0 \\ 1 \\ 0 \end{pmatrix} = \sqrt{2} |1, 0\rangle$  OK

$L_+$  pro  $l=2$   $l(l+1) = 2 \cdot 3 = 6$

$m = -2: 6 - (-2)(-2+1) = 4$

$m = -1: 6 - (-1)(-1+1) = 6$

$m = 0: 6 - (0)(0) = 6$

$m = 1: 6 - (1)(1+1) = 4$

$$\rightarrow \hbar \begin{pmatrix} 0 & 0 & 0 & 0 & 0 \\ 2 & 0 & 0 & 0 & 0 \\ 0 & \sqrt{6} & 0 & 0 & 0 \\ 0 & 0 & \sqrt{6} & 0 & 0 \\ 0 & 0 & 0 & 2 & 0 \end{pmatrix}$$

$L_- = (L_+)^{\dagger}$   $L_-: l=1: \hbar \begin{pmatrix} 0 & \sqrt{2} & 0 \\ 0 & 0 & \sqrt{2} \\ 0 & 0 & 0 \end{pmatrix}$

4.3.  $M_{max} = l$

$$l(l+1) - m_{max}(m_{max}+1) = l(l+1) - l(l+1) = 0$$

$$l(l+1) - m_{min}(m_{min}-1) = l(l+1) - (+l)(+l-1) = 0$$

4.4. For  $l=1$ :  $L_+ = \frac{1}{\sqrt{2}} \begin{pmatrix} 0 & 0 & 0 \\ \hbar & 0 & 0 \\ 0 & \hbar & 0 \end{pmatrix}$   $L_- = \frac{1}{\sqrt{2}} \begin{pmatrix} 0 & \hbar & 0 \\ 0 & 0 & \hbar \\ 0 & 0 & 0 \end{pmatrix}$

UKM 2023

T 25.4-3

$$L_+ = L_x + iL_y \rightarrow L_x = \frac{1}{2}(L_+ + L_-) = \frac{1}{\sqrt{2}} \frac{\hbar}{2} \begin{pmatrix} 0 & 1 & 0 \\ 1 & 0 & 1 \\ 0 & 1 & 0 \end{pmatrix}$$

$$L_- = L_x - iL_y$$

$$L_y = \frac{1}{2i}(L_+ - L_-) = \frac{1}{\sqrt{2}} \frac{\hbar}{2} \begin{pmatrix} 0 & 1 & 0 \\ 1 & 0 & -1 \\ 0 & 1 & 0 \end{pmatrix}$$

$$L_z = \frac{\hbar}{2} \begin{pmatrix} -1 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 1 \end{pmatrix}$$

4.5  $L_z^2 = \frac{\hbar^2}{4} \begin{pmatrix} -1 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} -1 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 1 \end{pmatrix} = \frac{\hbar^2}{4} \begin{pmatrix} 1 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 1 \end{pmatrix}$

$$L_x^2 = \frac{1}{2} \frac{\hbar^2}{2} \begin{pmatrix} 0 & 1 & 0 \\ 1 & 0 & 1 \\ 0 & 1 & 0 \end{pmatrix} \begin{pmatrix} 0 & 1 & 0 \\ 1 & 0 & 1 \\ 0 & 1 & 0 \end{pmatrix} = \frac{1}{2} \frac{\hbar^2}{2} \begin{pmatrix} 1 & 0 & 1 \\ 0 & 2 & 0 \\ 1 & 0 & 1 \end{pmatrix}$$

$$L_y^2 = -\frac{\hbar^2}{2} \begin{pmatrix} 0 & -1 & 0 \\ 1 & 0 & -1 \\ 0 & 1 & 0 \end{pmatrix}^2 = -\frac{\hbar^2}{2} \begin{pmatrix} -1 & 0 & 1 \\ 0 & -2 & 0 \\ 1 & 0 & -1 \end{pmatrix}$$

$$L_x^2 + L_y^2 + L_z^2 = \frac{\hbar^2}{4} \left[ \begin{pmatrix} 1 & 2 & 1 \\ 0 & 2 & 0 \\ 1 & 0 & 1 \end{pmatrix} + \begin{pmatrix} 1 & 0 & 1 \\ 0 & 2 & 0 \\ 1 & 0 & 1 \end{pmatrix} \right] = 2 \frac{\hbar^2}{4} \begin{pmatrix} 1 & 0 & 1 \\ 0 & 2 & 0 \\ 1 & 0 & 1 \end{pmatrix} = \frac{\hbar^2}{2} \begin{pmatrix} 1 & 0 & -1 \\ 0 & 2 & 0 \\ -1 & 0 & 1 \end{pmatrix}$$

4.6

$$[L_x, L_y] = L_x L_y - L_y L_x = \frac{1}{2} \frac{\hbar^2}{2} \left[ \begin{pmatrix} 0 & 1 & 0 \\ 1 & 0 & 1 \\ 0 & 1 & 0 \end{pmatrix} \begin{pmatrix} 0 & -1 & 0 \\ 1 & 0 & -1 \\ 0 & 1 & 0 \end{pmatrix} - \begin{pmatrix} 0 & -1 & 0 \\ 1 & 0 & -1 \\ 0 & 1 & 0 \end{pmatrix} \begin{pmatrix} 0 & 1 & 0 \\ 1 & 0 & 1 \\ 0 & 1 & 0 \end{pmatrix} \right]$$

$$= \frac{\hbar^2}{2i} \left[ \begin{pmatrix} 1 & 0 & -1 \\ 0 & 0 & 0 \\ 1 & 0 & -1 \end{pmatrix} - \begin{pmatrix} -1 & 0 & -1 \\ 0 & 0 & 0 \\ 1 & 0 & 1 \end{pmatrix} \right] = \frac{\hbar^2}{2i} \left[ \begin{pmatrix} 2 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & -2 \end{pmatrix} \right]$$

$$= i \frac{\hbar^2}{2} \begin{pmatrix} -1 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 1 \end{pmatrix} = i \frac{\hbar^2}{2} L_z \quad \underline{\underline{OK}}$$